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Net saving rate is
not decreasing as
much as total
growth

Ratio of net saving
to total growth is
increasing

capital-income ratio
is increasing

Post-WWI capital-
income ratio has
been artificially
below the steady-
state level
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Capital share in
income is increasing
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The rate of return
to capital is not
decreasing as much
as total growth
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Inequality in income from
capital is always greater than
inequality in income from labor
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The steady-state level of inequality in
income from capital is an increasing
function of the difference between the
rate of return to capital and the total
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